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Section A {10x 1 mark)

Questions 1 fo 10 cany 1 mark each.

For each question, four oplions are given.

One of them is the comrect answer.

Mdke your choice (1, 2, 3 or 4} and write it in the brackeis provided.

}. Hghiy- nine in numeral formis

{1) 80

{2) 89

(3} 90

{4} 98 { )

2. 50= fens

{3) 40
{4) 30 { i

1o}



3. What number comes before 497
(1} 51
2 %
[3) 48
{4) 47

4, What is the missing number ?

11 35
{2} 45
{3} 55
{4 75

5. Whatis 20 less than 40 ?
(1} 20
{2) 38
[3) 42
(4 40




- 6. Which of the following gives the greatest answer?

(1} 47-9

{2) 22+8

(3) 60-20

) 36+10 ()

67+3 = 90-

{1} 2tens

{3} 7tens

{3} 70 ones

(4) 7 tens2ones { )

7 lens 16 ones =

{1y 9
(2} 23
(3) 76
{4) 86 ( }

9. Add 37 and 14. The answeris

1y 11
2) 21
(3) 43
{4) 53 ()

103



10.

Q1)
2)
3)
(4)

10

3%
41
90

is bigger than 40 but smaller 50

(10 X T mark)

Questions 11 to 20 cany 1 mark each.

i1. Count the stars and write the number.

There are

stars alfogether.

12.  Wiite the following number in words.




13. ~ Colour two numbe‘rﬂhat.make up:70.

14.  Compiete the numbeér paitem.

32,36, , 44, 48, _ , 06

15.  Arangé these numbers in order from the smallest to the biggest.

38 || 51 2 |1 20 || 63

smallest

16. Colour the shape with the largest answer.

7 tens




17. Loock at the picture below. Theh wiite a'sublraction sentfence.

18. Using the numbers in the box below.

What is the smallest 2-digit number that you can form ?

7 5
3 4

19. 100




20.

/\

Question 21 canies 2 marks and Question 22 caries 3 marks.

21.  There are 25 fruiis in a basket. 18 of them are pears while the rest

are apples. How many apples are there in the basket ?

There are apples in the basket.

wt



Jack has 25 stickers.
Gary has 9 sﬁckers more t_ha.h_qu.k.

How many stickers do they have altogethesr ?

fhey have . stickers dlifogether.

End of paper

8
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SECTION B

11.
12.
13.
i4.
15.
16.

17.
18.
19.
20.

34

Ninety- five

23 and 47
32, 36, 40, 44, 48, 52, 56

29, 38, 40, 51, 63

75+ 10

10—-8=2

34
61
25

SECTION C

21

25-18=7

There are 7 apples in the basket.

22,

25+9=34
25 4+ 34 =59

They have 59 stickers altogether.
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